
 

 

 

 

 

 

 

 

1 / 2                                                                   MEKOL 1141 – 12/11 

     

 

MEKOL 1141 
       
 

 

MEKOL 1141             
 .     MEKOL B5 ()  MEKOL B11 (, 
)     4  DIN/ EN 204 (  ,  
   IFT Rosenheim, . , ).     
 (    IFT Rosenheim    WATT 91 

   :  80°C > 7,0 /2
). 

 
  

    ,  : 
- :  
-            
,       (     , 
 ,  ..); 
-   ,    (    
)     - ; 
-     - WATT 91 > 7,0 /2

. 
 
     ,     (   ). 
 
- : 

  -  MEKOL 1141: 
         

  
       ,    
      ,   
      20°C 
(ISO 2555, vr. 5 / 20 .-1

)    12 000 - 15 000    
 pH (ISO 976)     . 5,5 
       .+ 4°C 
    20°C, 
   65 %,  
    10%: 
-    100 /2

    . 3  
-    200 /2

    . 7  
         . 
              
  -  MEKOL 11: 
          (Al Cl3) 
       -   
      Xi  

(.    ) 
: 
      20 .    1 .  
 pH       . 3,2 
        3  
 

      ,    7   

. 
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   
           20   
   1    .        
 -  .    ,  ,  
,   .         
 (    ,      3,2). 
  D 4      .   
    3 . 
     : ,    
, ,      .   
   (, ,  )       (, 
,  )        .   
  ,   ,       
       .  
 

   : 
   : 

 ,      18 - 20° 
      60 - 70 % 
              8 - 10 %     
        12 – 15%  -  
        120-180 /2

 
       . 0,5 /2

 
 

  
   ,    ,  ,    
,     .      
   : 
                        : 

         +20°   20  / 35  

(,  )     +50°   4 / 5  
          30     
         (   )  
         2     
          ( . ½  )  
 
    ,    ,   
       .    
         , 
  . 
 

       +15°°°°. 
  12 .     . 
 

! 

      .     ! 
 

  

       ,    . 
 

  

         28  () 
   -   

 

 

            + 5°  + 25°.  
  !  
         6 .  
 
           ,     ,  
 -.   
-        -     
 .               . 
      .  
-       ,         
        -.     
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